157" MODEL

Side View Front View
THIS SIDE I 442.0 mm '
FORWARD | (17.4)
YOKE T LIQUID TIGHT GONDUIT CONDUIT ELBOW (See Note 1)
& [:l 1-1/2" PLASTIC PIPE NUT (See Note 2)
NYLON BUSHING
292.1 mm \ i . i
(15 ko — =" || 4 HH
‘\ SEALING PLATE
RUBBER WASHER T~ SEALING WASHER
VOKE T SEALING PLATE
C‘JfD\\ LOCK NUT
~—— PEDESTAL | T YOKE LOCKING NUT
+— I
S ' 3" DIAMETER WASHER
3 L~ 1/4-20 SCREWS (4) —=¥ | ¥
= FRICTION PLATE
g GROOVE INDICATING
e | . FRONT CENTER PEDESTAL TOP PLATE
9 Pedestal Plate (in bottom of Pedestal for hidden cable access) (Yoke will rotate +/- 320°
2 from front center)
8 le—— 203.2 mm —
x (8.00") 40" HIGH PEDESTAL
>|- l«e—177.8 mm —
oy (7.00")
2 o N O 104mm
g 2 (0.41")
S 2032mm  177.8 mm TN
= (800" (7.00") ~
e
o
§ \O O/
© 2024
E Hope Industrial Systems, Inc. Part Number: PED4X4 series Date: 2022.08.26 NOTES: 1) Position Conduit Elbow as shown for freedom of movement of
Z Toll Free: (877) 762-9790 - International: +1 (678) 762-9790 — Flexible Conduit.
fis | UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: Page 10f9 2) Tighten Plastic Pipe Nut after positioning Conduit Elbow.




19" MODEL

Side View Front View
THIS SIDE I 492.8 mm '
FORWARD | (194"
YOKE -t HQUID TIGHT CONDUIT CONDUIT ELBOW (See Note 1)
& [:I 1-1/2" PLASTIC PIPE NUT (See Note 2)
NYLON BUSHING
322.6 mm \D 1 , 1
12.7" a
(127 KNOB /HJ- /I -CH
\ SEALING PLATE
RUBBER WASHER T SEALING WASHER
VOKE T SEALING PLATE
C‘JfD\\ LOCK NUT
~—— PEDESTAL | T~ YOKE LOCKING NUT
+— I
S ' 3" DIAMETER WASHER
o S 1/4-20 SCREWS (4) —¥ | E
= FRICTION PLATE
g GROOVE INDICATING
9 | . FRONT CENTER PEDESTAL TOP PLATE
o Pedestal Plate (in bottom of Pedestal for hidden cable access) (Yoke will rotate +/- 320°
2 from front center)
8 l«—— 203.2 mm —
X (8.00") 40" HIGH PEDESTAL
>|- l«—177.8 mm —
=y (7.00")
2 S N @ 10.4mm
g (0.41")
S 2032mm  177.8 mm T
€ (8.00"  (7.00 ~
e
o
= kO o)
© 2024
E Hope Industrial Systems, Inc. Part Number: PED4X4 series Date: 2022.08.26 NOTES: 1) Position Conduit Elbow as shown for freedom of movement of
Z Toll Free: (877) 762-9790 - International: +1 (678) 762-9790 — Flexible Conduit.
fis | UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: Page 2 of 9 2) Tighten Plastic Pipe Nut after positioning Conduit Elbow.




19.5" MODEL

Side View Front View
THIS SIDE I 562 mm '
FORWARD | (22.13)
YOKE -t HQUID TIGHT CONDUIT CONDUIT ELBOW (See Note 1)
& 0 1-1/2" PLASTIC PIPE NUT (See Note 2)
NYLON BUSHING
279.4 mm \D i , i
11.0" a
o) KNOB ——tF /I =4
e SEALING PLATE
RUBBER WASHER T~ SEALING WASHER
VOKE T SEALING PLATE
C‘JfD\\ LOCK NUT
-—— PEDESTAL | T YOKE LOCKING NUT
— I
S : 3" DIAMETER WASHER
9] S 1/4-20 SCREWS (4) —¥ | E
= FRICTION PLATE
£ GROOQVE INDICATING
9 | . FRONT CENTER PEDESTAL TOP PLATE
o Pedestal Plate (in bottom of Pedestal for hidden cable access) (Yoke will rotate +/- 320°
2 from front center)
8 le—— 203.2 mm —
X (8.00") 40" HIGH PEDESTAL
>|- l«—177.8 mm —
o (7.00")
2 S N @ 10.4mm
g (0.41")
S 2032mm  177.8 mm T
€ (8.00"  (7.00 ~
e
9
= kO o)
©2024
E Hope Industrial Systems, Inc. Part Number: PED4X4 series Date: 2022.08.26 NOTES: 1) Position Conduit Elbow as shown for freedom of movement of
Z | Toll Free: (877) 762-9790 - International: +1 (678) 762-9790 — Flexible Conduit.
fis | UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: Page 3 of 9 2) Tighten Plastic Pipe Nut after positioning Conduit Elbow.




Mechanical Drawing - Yoke and Pedestal Mount

22" MODEL

Side View
THIS SIDE
FORWARD
YOKE .
309.9 mm
(12.2")
-—— PEDESTAL

Pedestal Plate (in bottom of Pedestal for

Front View
' 571.5mm |
‘ (22.5")
LIQUID TIGHT CONDUIT CONDUIT ELBOW (See Note 1)
1-1/2" PLASTIC PIPE NUT (See Note 2)
NYLON BUSHING \n - ]
KNOB i /I —!—-\l a1
| "~ SEALING PLATE
RUBBER WASHER i "~ SEALING WASHER
JOKE | T~ SEALING PLATE
Céfo\\ LOCK NUT
_!—~\ T~ YOKE LOCKING NUT
|
! ="~ 3" DIAMETER WASHER
1/4-20 SCREWS (4) ——¥ | ¥
- FRICTION PLATE
GROOVE INDICATING
FRONT CENTER PEDESTAL TOP PLATE

hidden cable access)
from front center)

le—— 203.2 mm —

(8.00")
l«— 177.8 mm —

(7.00")

fo oy—— 10.4 mm

(0.41"
203.2mm 177.8 mm
(8.00") (7.00")
\o o)

(Yoke will rotate +/- 320°

40" HIGH PEDESTAL

A
~ ]

©2024

'\\\\ES

x
o

Hope Industrial Systems, Inc.

Part Number: PED4X4 series Date: 2022.08.26

Toll Free: (877) 762-9790 - International: +1 (678) 762-9790
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com

Revision: Page 4 of 9

NOTES: 1) Position Conduit Elbow as shown for freedom of movement of
Flexible Conduit.
2) Tighten Plastic Pipe Nut after positioning Conduit Elbow.




23.8" MODEL

Side View Front View
THIS SIDE I 629.9 mm '
FORWARD | (248"
YOKE —F LIQUID TIGHT CONDUIT CONDUIT ELBOW (See Note 1)
& 0 1-1/2" PLASTIC PIPE NUT (See Note 2)
NYLON BUSHING
309.9 mm \D i , i
12.2" a
(122) KNOB ——tF /I =4
e SEALING PLATE
RUBBER WASHER T~ SEALING WASHER
VOKE T SEALING PLATE
C‘JfD\\ LOCK NUT
-—— PEDESTAL | T YOKE LOCKING NUT
— I
S : 3" DIAMETER WASHER
9] S 1/4-20 SCREWS (4) —¥ | E
= FRICTION PLATE
£ GROOQVE INDICATING
9 FRONT CENTER PEDESTAL TOP PLATE
o Pedestal Plate (in bottom of Pedestal for hidden cable access) (Yoke will rotate +/- 320°
2 from front center)
$ le—— 203.2 mm —
X (8.00") 40" HIGH PEDESTAL
>|- l«—177.8 mm —
o (7.00")
2 S N @ 10.4mm
g (0.41")
S 2032mm  177.8 mm T
= (8.00"  (7.00 ~
2
9
= kO o)
©2024
E Hope Industrial Systems, Inc. Part Number: PED4X4 series Date: 2022.08.26 NOTES: 1) Position Conduit Elbow as shown for freedom of movement of
Z | Toll Free: (877) 762-9790 - International: +1 (678) 762-9790 — Flexible Conduit.
fis | UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: Page 5 of 9 2) Tighten Plastic Pipe Nut after positioning Conduit Elbow.




Mechanical Drawing — Yoke and Pedestal Mount

MOBL4X4-CSTR-XX FLOOR STAND (OPTIONAL)

Full Workstation 292 mm (11.5") for YB1517 — ’ ° °
322.6 mm (12.7") for YB19 Qj];-
279.4 mm (11.0") for YB19.5 . ° ° .
309.9 mm (12.2") for YB22 ° ° ° °
309.9 mm (12.2") for YB23.8 . g
=]

1016 mm
(40.00"

101.3 mm (4.0") .
(Extra height created —
by caster wheels)

©2024

'\\\\ES

x
o

Hope Industrial Systems, Inc. Part Number: PED4X4 series Date: 2022.08.26 NOTES:
Toll Free: (877) 762-9790 - International: + 1 (678) 762-9790 —
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: Page 6 of 9




MOBL4X4-CSTR-XX FLOOR STAND (OPTIONAL)

Top View

'\\\\ES

x
o

O
O \ / /
4 525.5 mm
° . (20.69")
c ; ’
3 / \\
= O Q
f_U N
k7S N
[}
©
(0]
[a
©
e
©
[J]
S
>
|
()]
£
2
c @)
&)
‘©
kY
C
©
e
o 773.1 mm
| : |
= (30.44"
©2024
Hope Industrial Systems, Inc. Part Number: PED4X4 series Date: 2022.08.26 NOTES:

Toll Free: (877) 762-9790 - International: + 1 (678) 762-9790 —
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: Page 7 of 9




Mechanical Drawing - Yoke and Pedestal Mount

MOBL4X4-FIXD-XX FLOOR STAND (OPTIONAL)

Full Workstation
292 mm (11.5") for YB1517 — ’ ° °
322.6 mm (12.7") for YB19 @:ﬂ-

279.4 mm (11.0") for YB19.5 i o ° .
309.9 mm (12.2") for YB22 o e o o
309.9 mm (12.2") for YB23.8 ° °

_—_
1016 mm
(40.00")
|
|
BN
A i | i

38 mm to 64 mm (1.5" to 2.5") —
(Extra height created by feet)
©2024

'\\\\ES

x
o

Hope Industrial Systems, Inc. Part Number: PED4X4 series Date: 2022.08.26 NOTES:
Toll Free: (877) 762-9790 - International: + 1 (678) 762-9790 —
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: Page 8 of 9




MOBL4X4-FIXD-XX FLOOR STAND (OPTIONAL)

Top View

'\\\\ES

x
o

O
533.5 mm
(21.00")

)

C

>

]

=

=

(%]

()

©

()

[a

©

e

©

[J]

S

>

|

()]

£

=

©

&)

S o

C

©
e

o 773.1 mm

| - |
= (30.44")
©2024
Hope Industrial Systems, Inc. Part Number: PED4X4 series Date: 2022.08.26 NOTES:

Toll Free: (877) 762-9790 - International: + 1 (678) 762-9790 —
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: Page 9 of 9




